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1. Expand the following base power55

(i) 15625 (ii) 3125 (iii) 32768 (iv) 625 (v) 243

2. Expand the following base power5'5

: n 1 1 .

i) - i) - iii iv) - v) -

W 32768 (i 15625 (i) 3125 (V) 243 W) 625
3. Expand the following base power(—3)2

(i) 25 (ii) -27 (iii)) 9 (iv) -3 (v) -243

4. Expand the following base power(—5)'3

M 1) ) i) = (v (D) W) ()
Volios) W oo Mo VDRSS Vs

2
6. Expand the following base power( 3 )

(i) 2 (ii) 1o (iii) : (iv) o (v) 8
i) = (i) — (i) = (iv) — (v) —
3 81 9 27 27
-5
. 4
7. Expand the following base power( 3 )
(i) ! (ii) (iii) 2 (iv) 243 (v) o1
i) - i) - i) - iv) - v) -
32 1024 4096 32 256
4
8. Expand the following base power( -_4 )
) -243 .. 625 81 1 -27
(i) (=) (i) —— (i) —— (iv) —— (v)

1024 256 256 256 (e



-3

9. Expand the following base power ( s )

. Lo =125 )
(i) 625 (ii) ( >7 ) (iii) -125 (iv) 25 (v) 125

10. The value of53 +(-3)3

(i) 101 (ii) 97 (iii) 982 (iv) 98 (v) 95

11. The value of(-2)2 +572

2
(M) (=) (b > i) v 2 )
100 98 100 100 100
3 2
2 -5
12. The value of(3) +( 3 )
2
(i) 3 (i) (83) (i) oo (v) oo ) o
27 25 27 27
-3 -2
13. Thevalueof(l) +(-5)
2 3
2
(M) 211 (i 207 (i) 209 (iv) 209 ) (209)
25 25 25 23 25

14. The value of42 —22

(i) 11 (i) 10 (iii) 12 (iv) 122 (v) 15

15. The value of(-2)'2 - (-4)_2
2

M = ) = i) = () (-3) v >
14 16 16 16 16



3 2

16. The value of( 3 ) —( 25)

i 3N a3y G (
106 36

-2 -2

17. The value of( ; ) —( ; )

2

(0) 187 (i (189) (i) 189 (iv) 191 W) 27
100 100 100 100 14

18. The value of42 X 52

(i) 4002 (ii) 400 (iii) 399 (iv) 403 (v) 397

19. The value of5'2 ><2'2

i 1011 (i) 1007 iy 9871 (iv) 10072 (v) 10371

3 2
20. The value of(-_s) x(-l)
2 3
2
M 2y (222 i v (22 w (22
| 24 11 i ( ) I\ 14 \% 72
-3 3
-4 2
21. The value of(-3) X(3)
2
(i) ('729) iy (22 i (22w (Bhy W (22
512 512 170 512 512

22. The value 0f(-2)3 +22

() (22 (i) -2 Gi) 23 (v) -3 (v) -4



23.

24.

26.

27.

28.

29.

2 2
5 1
The value of(z) +( 3 )
0 225 (i 225 (i 227 i) 225
| 4 I > 11 4 v ( P
2 2
2 1
25. The value 0f(3) T( > )
2
(i) 2 (i) 2 (iii) 1 (iv) 2
! (16) o1 "6 Y 16
-3 2
1 1
(5) +(35) =
(i) 19 (i) 17 (i) 16 (iv) 15 (v) 18
5,3 5, 2 25
[(9 ) x(9°) ]+9
(i) 3 (i) 9 (i) 0 (iv) 2 (v) 1
5 5 5 5
6 5 4 7
[€) <3 1[4y <Dy ]-
(i) > (i) 0 (iii) 1 (iv) 6 (v) (-1)
| 7 I 11 AV 4 \Y -
simplify 71 +69+ 4% 431
115 105 125 113
(i) (if) (iii) (iv)

The value of(-5)'3 + 5'2

M () Gy () G s (Z) W =
5 3 5 5 5

21 19 23 21

(v)

7



Assignment Key

1) (ii) 2) (iii) 3) (iii) 4) (i) 5) (iii) 6) (v)
7) (ii) 8) (iii) 9) (iii) 10) (iv) 11) (iv) 12) (v)
13) (iii) 14) (iii) 15) (iii) 16) (v) 17) (iii) 18) (ii)
19) (ii) 20) (ii) 21) (ii) 22) (ii) 23) (i) 24) (i)
25) (iv) 26) (ii) 27) (v) 28) (iii) 29) (i)
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